V[ /74 %W[//IZ//

INSTALLATION INSTRUCTIONS
FRONT BAR PART 9044
2001 NISSAN FRONTIER/FRONTIER CREW CAB 2/4 WD

PARTS LIST

1- FRONT BAR 2-5/16 X% HEX BOLTS

2- BOTTOM FRAMES MOUNTING BRACKETS 2-5/16 HEX NUTS
2- TOP MOUNTING BRACKETS 2- /4 X% SCREWS
6-7/16 X1 % HEX BOLTS 2- 7 HEX NUTS
12-7/16 FLAT WASHERS 6-7/16 LOCK NUTS

INSTALLING THE BOTTOM FRAME MOUNTING BRACKETS
1. Remove the two factory bolts directly behind bumper. The bolts are parallel (one directly
behind the other). The bolt pattern on the frame mounting brackets will be positioned in
manner shown in illustration. (Driver side shown) attach frame mounting brackets re-
using factory bolts.

INSTALLING THE TOP MOUNTING BRACKETS
2. Remove the outer (2) rivets. (Located) within the inner vent bumper opening). The bolts
pattern on the top mounting brackets will be positioned in manner shown in illustration.
Attach top mounting brackets using the 5/16 bolts, 5/16 hex nuts. (Hand tighten as you
may have to move the brackets around slightly to align the front bar.

INSTALLING THE FRONT BAR

3. line up the three holes on the lower portion of the front bar with the three holes on the
frame mounting brackets (outer edge) using the 7/16 x 1 4 hex bolts, 7/16 hex nuts and
7/16 flat washers to fasten the front bar to the frame mounting brackets. Top portion of
the front bar will line up with the one hole on the top mounting brackets. (outer edge)
using the 3/8 x 1 button bolts, 3/8 hex nuts and 3/8 flat washers to fasten the front bar.

4. once the front bar is attached to the mounting brackets align the left and right side of the
front bar to the bumper. Once you are satisfied that the left and right side are equal
distance from the bumper tighten all fasteners.

NOTE: IS IS ADVISABLE TO RE-CHECK ALL FASTENERS FOR TIGHTNERS AFTER ONE
WEEK. TECH HELP: 1-888 800 2743



BOTTOM MOUNT BRACKETS

( attach using existin
\ /_\\ 7 g g

/ frame bolts

ya'd

7/16 x 1 1/4 hex bolts

align brush guard to
the outer edge of
frame brackets

TOP MOUNTING BRACKETS
TOP BRACKET

ATTACH UNDER. CENTER
BRUSH GUARD PLATE, (5/16
PRE DRILLED HOLES, USING
1/4 HARDWARE

REMOVE THE TWO OUTER RIVETS AND
DISCARD. ATTACH TOP SUPPORT
BRACKETS THROUGH WITH 5/16
HARDWARE.





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


